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z \ m#EHEz BA{EKN/m EEM3mEE A i RAEKN/mM EHEES ZH1-L V) SR % =
B) (WD HHREM= AT SBEDLREDESm) F) N S HRED - AT 5BED L RS DEE(m) %%ggﬁgfég?gi‘ﬂf;z‘%%é;ffﬁ@ mﬂ FTEHh KHE™ AFHERIE
(C) BBEN=LZHH100kN/ ML T DR BHDFEEND F DB KIEKN/ m) (G) HEEIIMUTORBOHFED DB KIEKN/m) BAMGE= T & =X R L IR Pri-tm AT
D) C)A LZEEMIERT IBENLTEENDES(m) H @HLZEEMIERTIBENLIRZEDEE(m) DRFHENCEET D ENTED,
NETHEIYTADLIEEDHOAEE S2EFBADTREEDHORES
XNES % =
(A) (B) (c) (D) (E) (F) (@) (H) (A) (B) (© (D) (E) (F) (@) (H)
(1) - - 81.4 1.0 - - 95 1.9 - - 81.4 1.0 - - 95 1.9
( 2) - - 81.4 1.0 - - 10.6 2.1 - - 81.4 1.0 - - 10.6 2.1
( 3) - - 89.0 1.0 - - 9.9 2.0 - - 89.0 1.0 - - 9.9 2.0
(4) 101.7 1.0 98.8 1.0 - - 10.6 2.1 101.7 1.0 96.1 1.0 - - 10.6 2.1
(5) - - 82.1 1.0 - - 12.0 24 - - 82.1 1.0 - - 12.0 2.4
(6) - - 68.7 1.0 - - 15.2 3.0 - - 68.7 1.0 - - 15.2 3.0
7)) - - 23.8 1.0 15.7 3.1 15.2 3.0 - - 23.8 1.0 15.7 3.1 15.2 3.0
( 8) - - 71.0 1.0 - - 13.5 2.7 - - 71.0 1.0 - - 135 2.7
(9) 133.7 1.0 99.7 1.0 - - 13.2 2.6 133.7 1.0 96.5 1.0 - - 13.2 2.6
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